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The given numerical expressions are solved in two different ways. 

Decide which solution is correct and explain why you think so. 

 

 

1.  

Solution A 

 
𝟏𝟎 + 𝟒 × 𝟐 − 𝟓 

 
𝟏𝟎 + 𝟖 − 𝟓 

 
𝟏𝟖 − 𝟓 

 

𝟏𝟑 
 

 

Solution B 

 
𝟏𝟎 + 𝟒 × 𝟐 − 𝟓 

 
𝟏𝟒 × 𝟐 − 𝟓 

 
𝟐𝟖 − 𝟓 

 

𝟐𝟑 

 

Answer:  

_____________________________________________________

_____________________________________________________ 
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2.  

Solution A 

 
𝟐𝟏 − 𝟏𝟒 ÷ 𝟕 × 𝟐 + 𝟏 

 
𝟐𝟏 − 𝟐 × 𝟐 + 𝟏 

 
𝟐𝟏 − 𝟒 + 𝟏 

 
𝟏𝟕 + 𝟏 

 

𝟏𝟖 
 

 

Solution B 

 
𝟐𝟏 − 𝟏𝟒 ÷ 𝟕 × 𝟐 + 𝟏 

 
𝟕 ÷ 𝟕 × 𝟐 + 𝟏 

 
𝟏 × 𝟐 + 𝟏 

 
𝟐 + 𝟏 

 

𝟑 
 

 
 

 

Answer:  

_____________________________________________________

_____________________________________________________ 
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3.  

Solution A 

 
𝟏𝟑 − 𝟑 + 𝟒 ÷ 𝟐 × 𝟓 

 
𝟏𝟎 + 𝟒 ÷ 𝟐 × 𝟓 

 
𝟏𝟒 ÷ 𝟐 × 𝟓 

 
𝟕 × 𝟓 

 

𝟑𝟓 
 

 

Solution B 

 
𝟏𝟑 − 𝟑 + 𝟒 ÷ 𝟐 × 𝟓 

 
𝟏𝟑 − 𝟑 + 𝟐 × 𝟓 

 
𝟏𝟑 − 𝟑 + 𝟏𝟎 

 
𝟏𝟎 + 𝟏𝟎 

 

𝟐𝟎 
 

 

Answer:  

_____________________________________________________

_____________________________________________________ 

 

 

 

 

 

 

 

 


